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MTB > ONEWAY ANOVA C1 €2 C3

* ANALYSIS OF VARIANCE ON C1

SOURCE . DF i Ss MS F p
Machine — “meen e e 0.219
ERROR .. 65.94 - - :

TOTAL - e 81.86
MTB > TWOWAY ANOVA C1 C2 C3

ANALYSIS OF VARIANCE C1
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MTB > NAME C4 'X1' Cc5 'X2' ¢c6 'Y'
MTB > REGRESSION C6 2 C4 C5

The regression equation is
Y =3.74 + 0.497 X1 + 0.00908 X2

Predictor Coef .Stdev t-ratio
Constant 3.737 - 2.453 1.52

X1 0.496596 0.006117 81.18

X2 0.0090774 0.0009778

s = 2.197 R-sq = 99.9% R-sq(adj) = 99.9%

Analysis of Variance

SOURCE DF SS MS F
Regression 2 53844 26922 5576.82
Exror 12 58 5

Total 14 53902

SOURCE DF . SEQ SS

X1 1 53428

X2 1 416

MTB > REGRESSION C6 2 C5 C4

The regression equation is

Y = 3.74 + 0.00908 X2 + 0.497 X1

Analysis of Variance

SOURCE DF SS MS F
Regression 2 53844 26922 5576.82
Error 12 58 5

Total 14 53902

SOURCE DF SEQ S8

X2 1 22030

X1 1 31814
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